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QUESTION 1

Which component is required to use VMware Distributed vSwitches (vDS)? 

A. VMware NSX-T 

B. VMware SD-WAN 

C. VMware Identity Manager 

D. VMware vCenter Server 

Correct Answer: A 

Reference: https://www.altaro.com/vmware/vsphere-distributed-switch-guide/ 

 

QUESTION 2

What is one way to access the NSX Manager? 

A. vSphere Client with a supported browser 

B. NSX UI with a supported browser 

C. NSX Manager via Telnet 

D. NSX Manager through a dedicated fat client 

Correct Answer: B 

Reference: https://docs.vmware.com/en/VMware-NSX-Data-Center-for-vSphere/6.4/ com.vmware.nsx.admin.doc/GUID-
CE5C4FD1-CFA7-49F3-B170-BC08CC15A9FB.html 

 

QUESTION 3

A customer needs to secure its micro-services. 

Which feature does NSX Data Center offer to help achieve this requirement? 

A. Micro segmentation enforcement at container level 

B. Integration with third-party vendors 

C. Service Insertion for Containers 

D. Easy Operation of Containers 

Correct Answer: A 

Reference: https://www.agilis.com.tr/vmware-nsx-data-center.html 
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QUESTION 4

A customer needs multi-cloud load balancing, web application firewall, and container ingress services across on-
premises data centers and any cloud. 

Which product meets this customer\\'s needs? 

A. VMware HCX 

B. NSX Advanced Load Balancer 

C. NSX Cloud 

D. NSX Distributed IDS 

Correct Answer: B 

Reference: https://www.vmware.com/products/nsx-advanced-load-balancer.html 

 

QUESTION 5

What are two characteristics of a Software Defined Networking (SDN) solution? (Choose two.) 

A. It allows workloads to be placed and migrated anywhere in the network. 

B. It is dependent on the underlying physical routers and switches. 

C. It is decoupled from the physical networking infrastructure. 

D. It contributes to layer 2 network sprawl. 

E. It restricts the placements of virtual machines and containers. 

Correct Answer: AC 

Reference: https://www.vmware.com/topics/glossary/content/software-defined-networking 
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